Řešení pro cvičení1
	1
	Objednavka.idZakaznik

	1
	mnozstviKus * cenaKus

	
	Zakazník.idObchodnik

	1
	idManager

	1
	ano


	5
	obchodník, zakaznik

	5
	varchar(128)

	5
	Bystrozraký, 2009


	6
	7

	6
	3 uzle

	6
	1003,1004,1005


	8a
	select * from obchodnik

	8b
	Máme více možností:

select count(*)  from zákazník
select count(idObchodnik) from obchodnik
select count(1) from obchodnik

	8c
	select idzakaznik, jmeno, bonita from zakaznik
Max 64 znaků

	8d
	Select distinct idobchodnik from objednavka

	8e
	Select jmeno || ' z ' || mesto from zakaznik

	8f
	Zkuste si rozdíly:

Select  (100*provize) || ' % '  from obchodnik
Select  cast (100*provize as integer) || ' % '  from obchodnik
Select  cast (100*provize as numeric) || ' % '  from obchodnik

	9a
	insert into Obchodnik values( 1008, 1002, 'Sličná', 'Hradec Králové', 0.1 );


